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Diabolical #158 (#1103 overall)

10-7-12

Yesterday's solution
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Hard #316
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Medium #314 (#1099 overall)

10-3-12
Yesterday's solution

213(4|9|5|7|6(1|8
9 8|1]6]2]3]7]5]4
S 7]6|8/4[1[9]2]3
B 6|34 9|5|1|7|2
TI1[2]3|6|8]4]9]5
41915|7|1|2]|8|3|6
314195 7|6]|2|8]1
1 5|7]2]8]4]3[6]9
6/2|8|13|9|5(4|7
Super Easy #157 10-2-12

Super Easy #157 (#1098 overall)

Easy #157 (#1097 overall

) 10-1-12
Yesterday's solution
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6l 1[|8]5]2[4]7[9]3
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81964721351
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Diabolical #157 9-30-12
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Hard #315 (#1100 overall

) 10-4-12
Yesterday's solution
418[7[2]9]1]3]|6]5
Gl2(3[4]7[5]19]1]|8
1[9]5]3[8]6]2]4]7
T|4|8[1]|2|3]5(|9]|6
S{1{9f7|6[4]8]3]|2
316[2[(9|5(8]14|7]1
203[6[8[4(7]1(5]9
BI7[1[5]3]|9]6]2]4
9|5[4[6]|1|2]7[8]3
Medium #314 10-3-12




